Xfﬁ}{fl =0

| (x+2)(x#+) 7O
32. glx)=x° "xz‘—x+1 33. h(x)=x"—4x* —9x% +16x+20

X000 -\Gxe)= 0 (X2, 52,4 ] X4

In 32 -33, find all the zeros of each function.

Oe? -1 1lx=t) =0
(ALK JEX~1) =0 Ll ] ~if =G qu

F S R M DG
il UW “Z -3 -woloe
\ L7

34. Solve x* ~9x? +39x? —225x +350=0 if 5i is a root X%25 IXT %737 x-- J95x 750

. = < - -
()("55 )(Xf';‘ ) a8 1 1L - /Yz 4—.?5;
YFF f’??‘f"""r’“f”ro _?Xaffﬁfxz-l_zg)f
(N2 N-T) =0 ¢ qx? T 2354
35. List the possible rational zeros of A(x)=—3x" —5x° —3x” + 7x+8 using the rational root theorem.
: ¥ 350
; I 2 T ff_ + P ; ‘/)’
rible . + z Z - 2= A
s ‘b R ; ,f} f% % 4 I 3 I 37 - /gy + 350
oo adf : . .f-*"‘—'zs_'
ZeroJ .
36. Identify the leading coefficient, degree and end behavior of r(x)=—6x* +4x* —x* +1
L'_C'F' -6 e aAr X =2 ";‘-’” e
In37- 39 write the simplest polynomial function with the given roots.
Hlemg —2 3 ) 38, =3, i
3 | :
Firy= (x+ /;,_)(w?l‘!f?( Fexy= (Xr‘3)(}(,-£)()<+£)

)

= f. - X
f—,;(} = xR L*\‘W e

vB & (¥ —
Fix)- 9(;+-(:if’))(x~(f 4"'}) ) Lixys X#3x +X+3

D .
[(x=1) 3 X ]

(x-iy =2
wio2X +1 -3
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Iln 40-41, determine whether the function graphed has an odd or even degree and a positive or e
eading coefficient, Then, describe the end behavior.

40.

a1,
'1.
L at X = Y /
4 ( — fr”_ﬂ}‘p “ﬁl}*'—i' bt /?{7@{?/{,
ll ﬂx?x;figa N ar X "‘:}/ﬁ"‘)"‘“ﬂ

- 24 | 7 - =0
odd  posthve L X -0, Aix)
Let f(x) = 12x* + 4, Gra

h f(x) and
transformation of f(x), Ph £ () and g(x) on the same coordinate plane. Describe g(x) as a

42. g(x) = f(-x) rfﬂec;ﬁwy " 43. g(x) = ~f(x) + 3 reflection 19
st s P + prematid
E Shitt vp
N 3 ) é/ x % j@i)
012345876 EEEEEEEE N REEREEEEN LA
’ _*;__%‘.. O |-\
o o |25
-8 1[ ' x L‘LKJ o
L J [ ]l
h DR Ry A & T 0. L o 7
Chapter 5, Part I Vt. 5.5
In 44 - 46, simplify completely. Assume that all expressio
44 x*—dx+4 - fx—l)(x‘
55 -9x-2 (5;\1,!)%2)
45. X _x2—51+4‘x2—16 o X Wﬁ)W) ’ _,;.’22:.
7_) 3 5 - i
X . 2x (X‘l"')(}ﬂ’\-' .Zx,(){-i-J,} OH-"I)(}—"‘U

—

p
(4106

62—+ Lo (X-4)(X-3)

= +
x=Tx+12 x-4

2 4 Sxix-%) 5X*~15x +3 s

—

G-9X-3)  (x-4)ix-3)  (x-4)(x-3)
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In 47 - 48, solve each equation,

2 4 LDt %
x 3x
‘?X: (p — LI( | Q){*:Z, X: /‘:}

1 1 )
48.x+1+ =x2 LCD ()(-r.‘)()(-!)

x-1 -1

X=l+x+/=2
2% =2 =7 No JSolvtru )
49, Ehc monthly minimum payment p due on a cerfa i - ed rate varies directly as the
alance b, and p = $19.80 when b = $1100. Find p when b = $3000.
oy - Y-0.018

/_‘) pr /C.f’? T b

T A = HES

/oe — Zoar

50. The time ¢ that it takes Hannah to bike to school varies inversely as h &d s. If she can bike
to school in 25 min when her average speed is 6mi/h, what would her average speed need to be to get to

school in 20 min?
i px b= &S

25 (6) = 207
/50 =264

r-Gs reh D
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